

$$(9.17) \mu_k = \frac{1}{N_k} \sum_{n=1}^N \gamma(z_{nk}) x_n$$

$$(9.18) N_k = \sum_{n=1}^N \gamma(z_{nk})$$

逐次EMアルゴリズムにおいて、ESTIMATE  $\gamma(z_{nk})$  を更新したとき、MSTEPの更新式を求めたい。

$$(9.18) \text{F1}) N_k^{\text{old}} = \sum_{n=1}^N \gamma^{\text{old}}(z_{nk})$$

$$N_k^{\text{new}} = \sum_{n=1}^N \gamma^{\text{new}}(z_{nk})$$

$$n \neq m \text{ ならば } \gamma^{\text{old}}(z_{nk}) = \gamma^{\text{new}}(z_{nk}) \text{ となる}$$

$$N_k^{\text{new}} = \sum_{n=1}^N \gamma^{\text{old}}(z_{nk}) - \gamma^{\text{old}}(z_{mk}) + \gamma^{\text{new}}(z_{mk}) = N_k^{\text{old}} - \gamma^{\text{old}}(z_{mk}) + \gamma^{\text{new}}(z_{mk}) \dots (9.99)$$

ここで

$$(9.17) \text{F1}) \mu_k^{\text{old}} = \frac{1}{N_k^{\text{old}}} \sum_{n=1}^N \gamma^{\text{old}}(z_{nk}) x_n$$

$$\mu_k^{\text{new}} = \frac{1}{N_k^{\text{new}}} \sum_{n=1}^N \gamma^{\text{new}}(z_{nk}) x_n$$

これをF1)

$$\mu_k^{\text{new}} = \frac{1}{N_k^{\text{new}}} \left\{ \sum_{n=1}^N \gamma^{\text{old}}(z_{nk}) x_n - \gamma^{\text{old}}(z_{mk}) x_m + \gamma^{\text{new}}(z_{mk}) x_m \right\}$$

$$= \frac{1}{N_k^{\text{new}}} \left\{ N_k^{\text{old}} \mu_k^{\text{old}} + (\gamma^{\text{new}}(z_{mk}) - \gamma^{\text{old}}(z_{mk})) x_m \right\}$$

$$= \frac{N_k^{\text{old}}}{N_k^{\text{new}}} \mu_k^{\text{old}} + \frac{(\gamma^{\text{new}}(z_{mk}) - \gamma^{\text{old}}(z_{mk}))}{N_k^{\text{new}}} x_m$$

$$= \frac{N_k^{\text{old}} - (\gamma^{\text{new}}(z_{mk}) - \gamma^{\text{old}}(z_{mk}))}{N_k^{\text{new}}} \mu_k^{\text{old}} + \frac{(\gamma^{\text{new}}(z_{mk}) - \gamma^{\text{old}}(z_{mk}))}{N_k^{\text{new}}} x_m \leftarrow (9.99) \text{F1}$$

$$= \mu_k^{\text{old}} + \frac{(\gamma^{\text{new}}(z_{mk}) - \gamma^{\text{old}}(z_{mk}))}{N_k^{\text{new}}} (x_m - \mu_k^{\text{old}}) \dots (9.98)$$

を得る。